

Dr. Mangesh

MBBS, MD.



Super Speciality Hospital Your Trust. Our Service

OPD Prescription

UHID No.

: 2829

Patient Name : Nandani Kumari

Address

: Raghunathpur, Muz.

B.P.

Pulse:

OPD No.

: 1289

Date

: 01/10/2024

Age / Sex

: 12 days/ F

Temp:

Weight:

Clo: - Somethas byfor mentione diese Sufuger defenz bryther durched and Carrett One

joy- Marciet 125 gas - 1 x2 ist- Acilae (sary- 1x)

Satyam Super Speciality Hospital

Unit of Satyam Medical Care Pvt. Ltd.

Maripur (Opp. Satyam Paramedical College & Research) Muzaffarpur-842001, Bihar

Email: satyam_hospital@yahoo.com

Attn: A Giggles Welfare Organization

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 2829

OPD NO. 1289

DATE:- 01/10/2024

PROFORMA INVOICE/FUND REQUISITION REPORT

Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)

Opp. Satyam Paramedical College And Research

Maripur, Muzaffarpur, - 842001, Bihar

Patient Name:	Nandani Kumari		
Sex:	Female		
Mother's Name:	Paravati Devi		
Address:	Raghunathpur, muz.		
Diagnosis:	Patient has hyaline membrane disease, surfactant deficiency lung disease, wherein lungs are not fully		
	developed and cannot provide enough oxygen.		
Date of Admission:	01 st /October /2024		

Overall Analysis: - Nandani Kumari, was brought to the hospital in the morning hours of 01st October 2024 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from Hyaline membrane disease, surfactant deficiency lung disease, wherein lungs are not fully developed and cannot provide enough oxygen. It can quickly cause damage to brains and other vital organs unless treated immediately, it could even be fatal to child's health. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. Kid's father is a Farm labourer and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,18,180. For almost 14 days of treatment.

Estimated Fund required during Hospital Stay and Overall Treatment.

S.No.	Element	Unit	Rate (INR)	Price (INR)
1	NICU	14	3000.00	42000.00
2	Nursing	14	700.00	9800.00
3	Visit	14	1000.00	14000.00
4	Procedure	1	5000.00	5000.00
5	Medicine	14	670.00	9380.00
6	RBS	14	100.00	1400.00
7	Oxygen	326	100.00	32600.00
8	Warmer	8	500.00	4000.00
				1,18,180.00

Astropy

स्वार्भ

शा ज्ञान अध्यवमा प्रमान जिल्लाम कान्डरान ज्ञासर विद्या कर्न -1 चिल्ला गांव - 190ला-110091

विषप् न आयिन याहायता हैत धार्पना पत्र

STIYM TOP OICT

SETTLOPLO SETTLOPLO

NOUVONO CENTRA